OBt ERUVBEEDONRILFEYERIEFHER
1. B - BEIERIOKE (BRRER)

x1—-3 £H - ZEm&E5
(1/1R=%)

sEmE BEFLIE () ) BB () S4B (ko4 5" (1494 dng-TEQ/ ) BIE (ko 0 VR

Bl - %
B T TKE %é

) WEAT i | 5w | 2 | x| ok | o e | aar | % | x| ek | xs BEE| 1w | mu | em | BRY S0 | e
2l r=rY )L 0 2 2 0 0 0 0 0 2 0 2 0 0 0 0 0 3400 0 3400 3400
DITFILREY 2 0 2 2 0 0 0 2 0 0 0 2600 0 0 0 2600 0 0 0 2600
RITFLVAFVR 1 1 1 1 0 0 0 1 0 1 1 56 0 0 0 56 0 480 480 536
63| LV 8 6 8 8 0 0 0 8 6 0 6 6301 0 0 0 6301 9400 0 9400 | 15701
68 |7 AL RUV=MY OL{LEY 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 310 0 310 310
1394 b= O0ORyEY 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 1300 0 1300 1300
s |lorvooxdy (BEEEXFL YY) 1 0 1 1 0 0 0 1 0 0 0 1500 0 0 0 1500 0 0 0 1500
20> h>rO0QTFL Y 17| 16| 17 17 0 0 o 17 16 0 16 4542 0 0 0 4542 | 46510 o| 4es10| 51052
22411, 3, 5=KUAFIRVEY 1 0 1 1 0 0 0 1 0 0 0 80 0 0 0 80 0 0 0 80
27| kLT 8 7 8 8 0 0 0 8 7 0 7 64 0 0 0 64| 18700 0 18700 | 18764
230 AR U Z DILAY 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
231 = v AL 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 200 0 200 200
MR VAV ROCZDIEY 1 1 1 1 0 0 0 1 1 0 1 0 0 0 0 0 850 0 850 850
&5t 9| 36| 45| 39 0 0 o 39 35 1 6| 15143 0 0 0 15143 | 80670 480 | 81150 | 96293

PRHFRE © FERR20FE



